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MENTAL ABILITY TEST

Directions: (Q. No. 1-3): In the following questions, three terms are alike in some way and
so form a group white one is different from others. ldentify the term that does not belong
to that group.
fror: (WoHo1-5 ) : Foret womit 3 i vrag ferrell & W weh WA € 3R ek @E I ¢, Sl
ek g 3 A W P 1 3 VI Ry o St He @ R e
L1 (D) Brinjal (2) Cauliflower

(3) Capsicum (4) Apple
L (S (2) F& T

(3) fervren forei (4) B
2. (1) Week (2) Monday

(3) Thursday (4) Saturday
2. (1) |we (2) Ear

(3) =En (4) fER
3. (1) Mathematics (2) English

(3) Subject (4) Science
3. (i (2) st

(3) fam= (4) famm
4. (1) Sun (2) Star

(3) Moon (4) Sea
4. . () (2) TR

(3) I== (4) 99<



o (1) Computer
(3) Bed

By o (1) I
(3) faat

(2) T.V.
(4) Mobile

(2) SEAats
(4) ArEEA

Directions: (Q. No. 6-10): Complete the given series.
fr¥oi( wo Ho 1-5): W siEe Rt I L |

6. 8, 5, xeen 20, 40

7. 5, 85 Viiimwm 23
(1) 18
(3) 16

10. 70,50, ....., 25,20
()35
(3) 30

2) 18
(4) 16

(2) 17

4) 15

(2) 10
(4) 14

(2) 13
(4)16

(2) 40
(4) 45



Directions: (Q. No. 11-15): Arrange the following words in a meaningful order.

5391 (Wo To 11-15 ): Foet vredi =nt sfaa ww ¥ fora |
(3) Son (4) Father

1.

1.

12.

13.

(1) Self (2) Grandfather

(1) 4,3,
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(1) =4 (2) BT
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(1) Death (2) Education
(1).1,.2,3,4

(3)4.3,2,1

(1) 97 (2) faram

—
(98]
S
;l::_
o8}
o]

(1) Parliamentary Constituency
(3) Panchayat
(1) 1,2,3,4

(33, 2,4 4

(1) SrmgeT &l

(3) 9=mId

(2)2,3,4,1

(4)1.2.3.4

(4) foram
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(4)1.2.3.4

(3) Birth (4) Job
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(3) 54 (4) A0
(2)3.2,4.1

(4)2,3,4,1

(2) Zila Parishad

(4) Assembly Constituency
(2)4,3,2.1

(4)3,2.4.1

(2) fSren aftug
(4) faurgsn &=
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(1)1,2,3,4 (2)4,3,2,1
(3)3.2. 1,4 (4y3,2.4.1

14. (1) Knee (2) Waist {3) Foot (4) Neck
(1)1.2.3.4 2)2,1 3.4
3)4.2,1,3 (4)3.4,1.2

14 (1) ¥ (2) FH (3) Ui (4) T
(1)1,2,3.4 )2, 1 3.4
(3)421.3 (4)3.4.12

15 (1) Seed (2) Trunk (3) Leaf () Flower
(1)1_2.4*3 (2)1.2.3,4
(3)2,1,4.3 (4H)4.3.1.2

15, (1) (2) @ (3) U () e
(1)1,2,4.3 (2)1,2,3,4
(3)2.1.4,3 (4 4,5. 1.2

Directions: (Q. No. 16-20): In the following questions there arc three words out of which
first two are related in some way. The same relationship bolds between the third word
and one of the responses (1), (2), (3) or (4). Identify the correct related word.

fidor (Wo To 16-20): ﬁmuﬁﬁﬁﬂmﬁqﬂq%‘uma}mm‘mﬁ woy o
waﬁaainag"rmam’{aﬁrﬁqnqﬁM(l). (2),(3)ur(4)ffﬁqaswaff%mmmﬁ

I1eg ht AT |

16. Fire : Heat - Snow : ?
(1) Lat (2) Cold
(3) Melt (4) Freeze




m

16, ST . H i WE 27

(1) @ri (2) 38 -
(3) faerer (4) o STHAT
17.  Aeroplane : Air :: Car ? ' \
(1) Water (2) Track
(3) Road . (4) Snow
17, oA A R 7
(1) (2) vl
(3) vg® (4) %
I T
: AT S
D — 2y +
(D1 @7
.8 ” 8
)13 )
19. Comb - Hair :: Pen : 7
(1) Book (2) Register
(3) Paper (4) Library

19, ;9T T
(1) ferama (2) o=
(3) faerer (4) THIHTH




20. 128 24 289 7

(113 (2) 15

(3) 17 (4) 19

Directions: (Q. No. 21-30): In each of the questions three problem figures are given. Sclect
a figure amongst the answer figures which will continue the same series as given in the
problem figures.

19T ( Wo Ho 21-30 ): Wedkah Wy 1 et wwwea feorx faw o 1 3w foad o v ae a4 =
et fas o S g @ s S wEar |

Problem Figures Answer FFigures

A

X

X
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a

O,
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b
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(1) 2) (3) (4)
(1) (2) (3) (4)
QATAANNPANN AN,
(1) (2) (3) (4
d C b, | cla
36| | Bl
(1) (2) (3) (4)

6




30.
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6 0 0
(1) (2) (3) (4)
=== =N
(@) 3) (4)
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a1, Day before yesterday was Sunday. What will be the day after tomarrow?
(1) Wednesday ' (2) Thursday
(3) Tuesday (4) Friday

31, Il AgER o wE wE-m e g

(1) geem (2) IRER
(3) AIETEaR ' (4) ghark
32. If the first day of the month is Tuesday. What will be the day on 25" of that month”
(1) Friday (2) Thursday
(3) Tuesday _ (4) Wednesday

32. ot o =t veet fafa = wreEr on 39 g w51 25 fafy = s faq a2

(1) Yehel (2) AR
(3) HITETER (4) FUIR
L & Ram is 6" from either end of a row of boys. How many boys arc there in that row?
(1)9 (2) 11
(3) 10 (4) 12

33w A A TR T 6§ T e ¥ U # B R e E

(H9 (2) 11
(3) 10 (4) 12
34, Alady said that Rajeev’s grandfather is the only son of my father. How is lady related 1o
Rajeev? ,
(1) Daughter (2) Sister
(3) Nriece - & (4) ‘Crandmother
8
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34. U Afeen wedl & fo usita & <@ 9 fudr St o ool 43§ | feel w1 sie | a i

@2
(1) i (2) =&
(3) erefrsit (4) <&t
35. A person walks 3 km in a direction and returns back S km. How far he is from starting
point?
(1) 8 km (2) 2 km
(3) 1 km (4) 0 km

35. U oAfad U foen | 3 foR . g0 a1 o € SR anfaw s fom . 0 o o 1 st fag

Y g farat gX 32
(1)8 fer (2) 2 T =,
(3) 1 T . : (4) 0 fom i

Directions: (Q. No. 36-40): Arrange the given words in alphabetical order and choosc the
one that comes first in the dictionary.

frder (wo Ho 36-40 ): et vradl # @ = vz YT ST VIsIahIN o STTHN Teel 31Tar 2 |

36. (1) Private (2) Prince
(3) Perform (4) Parcel
37. (1)Knife (2) Knowledge
(3) Keeper (4) Kind
38. (1) Best (2) Bite
(3) Beat (4) Beak
|
|
39. (1) Singer (2) Sight
© (3) Self (4) Sack
40. (1) Rest (2) Risk
(3) Rim (4) Ring



Dircction (Q.No. 41-45); Arrange the given words in the sequence in which they oceur in
the dictionary and then choose the correct sequence.

9T (wo HWo 41-45 ):ﬁm@aﬁwmﬁﬁw@ﬁumﬁé@:ﬁ@ﬁanﬁ% 3

for 3fam o o

41. (1) Angry (2) Awesome (3) Aerial (4) Acroplane
€1)12,.3, 4 (2)2,1,3,4
(3)3,4,1,2 (4)3.4,2,1

42, (1) Department  (2) Degree (3) Disgrace (4) Dog
(2,1,3,4 ' (2)2,3,1,4
33,2 4,4 4)1,2,3,4

43, (1) Forest (2) Fight (3) Finger (4) Festival
(1)1,3,2,4 (2)1,2.4,3
(3)4,2.3,1 (4)4,2,1.3

44, (1) Nest (2) Night (3) Nail (4) Nose
(3, 1,2,4 (2)3,1,4,2
(3)3.4,1,2 44,3, 1,2

45. (1) Ship (2) Sheet (3) Seat (4) Sale
(1)4,3,2,1 (2)4,3,1,2
(3)4.2.3.1 4)1,2,3,4

46. In the given series how many times ‘5" has come exactly before 3’9

2,3,5,4,6,5,2,5,3,1,4,5,3,1,4,5, 3, 6. 3,5
10




(13 (2)2

(31 (4)4 -

46. <1 S gEen ¥ fha W Hem 3 q vee 5 82

()3 2)2
(3) 1 (4)4
47. If *a” stands for *+’, b stands for *-* and ‘¢’ stands for *x". Then what will be the value

of2¢3b4as?
(1)8 (2) 7
(3)6 (4) -2

47. AR HAL + b FAd AWM I AT T A 2c3bdasS HEH T AT
(18 (2)7

(3)6 (4) -2

48. [f FOOT is coded as ABCD, then HOOD will be coded as:
(1) XBCZ (2) XCBZ
(3) XZBC (4) ZBCX

48. W Hihfaswk o § FOOT 1 wifsg® &g ABCD ¥ a1 HOOD 1 sifees #1g #4127
(1) XBCZ (2) XCBZ

(3) XZBC (4) ZBCX

49 If A is to the South of B. What is the direction of B to that of A?

(1) East (2) West
(3) North-East (4) North

11
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49 ufe AL B ¥ <faw ¥ 2 A B, A foRe fem 622

(1) 9el (2) afe=w
(3) I (4) IX
50. At 12 Noon what is the minor angle between minute hand and hour hand ofa cloek?
(1) 360° (2) 180°
(3) 90° (4) 0°

50. ﬁﬁéﬂzaﬁ%ﬁaﬁmaﬁxﬁawsr@ﬁqg%aﬁafwﬁamwwwaﬁm?

(1) 360° (2) 180°
(3) 90° (4) 0°
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